A & 0l & AtES & Al

A

SN ZaD
B mLwa
ol ZEs MgXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
==t 576,893 561,756 16,137
2ol 470,258 459,566 10,692
ZEE MEXde2 74,525 66,773 7,752
Hargs & S0XE 38,361 39,681 1,320
201 fer= 3| 32,361 32,361 0
01 At 2|l 14,761 14,761 0
OSHIH& M X EZ4I 400,000& %134 5,200
OMEXt H=sx3l, 27 =2
1,4002 %3, 1432 4,401
OMEX AEFBAIAY 018522
330,000 x 122 3,960
OARES ¢ 300,000& *x2CH*23] 1,200
2 S22l 17,600 17,600 0
OUSEALFAIAR KX2t
17,600,000 * 14| 17,600
202 04l 6,000 7,320 1,320
01 =LHAHI 6,000 7,320 1,320
OMgxE gF=4 ol
500,000 x 122 6,000
ASAHS e SR 36, 164 27,092 9,072
201 fet=3| 32,004 22,692 9,312
01 At 22|l 9,820 0 9,820
OXEEME 20 AT DAIAE S/W
= 5,500,000 * 14 5,500
OXEHE DHIY HRHTAALY 0124
== 4,320,000 14 4,320
2 ZZ2H| 22,184 22,69 A508
ONSYEMUAIAL STIZ2
4,752,000 * 14 4,752
OB SEHAIAAE SFX|2
17,432,000 * 14| 17,432
202 04l 2,160 2,400 A240
01 =LHA LI 2,160 2,400 A240
O HIX HRFA 0]
180,000& * 12 2,160
305 Hie =S 2,000 2,000
01 tie=S 2,000 2,000
OXtza e 3z ia=s
200,000 = 10CH 2,000
Nl S 88,230 74,618 13,612
Nel=2 Mg H 88,230 74,618 13,612
201 er23 | 41,900 37,485 4,415
01 At2teltl 15,140 6,620 8,520
ON 2+ XIA 70,0003 302 A 2,100




SN ZaD
B mapa
Rl Mel=2SH (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OPPT & 2T} MIZH (M2 HAEH3)
2,000,000 %14 2,000
OIIRAARIRE| Bt
70,0002 x4 H =33 840
OAMRES 7Y 300,000 *x3CH*23] 1,800
ONISI$Y DIfA4E ABIIC Subrr
500,000& * 122 6,000
OMSI%e DA 2U442
80&+30,0004 2,400
02 S3=gHl 26,760 30,865 A4,105
OAM2+& HRX3AAE FX2kel
4,500,000 * 14 4,500
OUBRHE ABISHLALAE S22
13,500,000 » 14 13,500
OXMEDXN SELEE
40031 %21,9004 8,760
202 04| 3,600 4,200 A600
01 =LHOLI 3,600 4,200 2600
ONe =+ MR+ RN 0]
300,000 * 122 3,600
308 AHXIEMSOIE 42,730 32,933 9,797
1 SIS0t AAS A 42,730 32,933 9,797
OHM2+=EBAIAR X2t
42,730,000 *14] 42,730
KL AIHIE NS 4 307,503 318,175 10,672
KA Mg & 307,503 318,175 10,672
101 21AH| 39,393 48,425 9,032
04 JIZtN2Z2XNSE= 39,393 48,425 29,032
OHFARA(XLAM SNXE SHH 29) 39,393
>llEs 2,305,270 x5 & +3E 34,580
PRLPNESS 11,0302 +BAI2H+5EH <2 883
D=RUASFES 35,461,450 4. 5 1,5%
PAHLEE= 35,461,450 %3.495% 1,240
PEIVNQALEEZ 1,239,380 %12.27% 183
PNESES 35,461,450 *1.75% 621
DAES S 35,461,4502 0. 9% 320
201 er2 3| 218,310 218,270 40
01 AtR2t2|HI 27,120 9,180 17,940
OMEDXM(=ES) 66,0003 x202f A 1,320
O&AM el 1,500,000 *14] 1,500
OXIEAl ItSAHH =8
80&*162,500 13,000
OXNZA ARS & Rl g8
80& 7,500 600




=1
A

P
SRR % (e &8l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMge 2¢d? US0IM ==&
2203 +10,0002 2,200
OARES 78 300,000 «7CH*32] 6,300
OdAEMA & XM= 55,0002 x40 2,200
2 S52g4l 191,190 209,090 A17,900
OgRE slds 23
50,0003 =3+ 122 1,800
OXZAl ARS 2t AIAE F X2l
2,750,0002 %14 2,750
OIS AHEAIAE =2t
3,330,000 *14] 3,330
OelEE g3t AIAE K2l
2,500,000& *14] 2,500
ORel=gll Xzl
12,810,000 x 14 12,810
OMELIA 2ELER
4003 35,0004« 12& 168,000
202 04| 10,800 12,480 1,680
01 SLHoIH 10,800 12,480 1,680
OXIZAl Mehda R 0y
900,000& * 122 10,800
303 Z&a= 39,000 39,000
01 Za= 39,000 39,000
O ZAS(NLA, HA+Y, SHS)
39,000,000 *14! 39,000
Y 2B (2 ==1) 106,635 102,190 4,445
el | (20t 65,305 64,243 1,062
olA2HH| (&0t 65,305 64,243 1,062
101 @124H| 65,305 64,243 1,062
01 &2 63,441 62,427 1,014
OAIZRIZR+E
11,1302 x 198 x300A[ 2t 63,441
03 SR (RIH )22 U2+ 1,864 1,816 48
oY=z 1,864
DHYARA (KL MM E )
16,5302 x2&+bA| 2+ 123 1,864
23H(F=+=1) 41,330 37,947 3,383
Jl=ZHI(E==1) 41,330 37,947 3,383
201 fer23| 18,960 20,247 A1,287
01 AtR2t2|HI 16,260 16,260 0
ORKN2E AtR2elt]
16,260,000 * 14 16,260
02 s3=gHl 2,700 3,987 1,287
ORK2g S52gH|
2,700,000 *14] 2,700
202 04l 9,240 10,200 A960




SN BLD
A HZRAZHI(F+=1)
g©elr J12ZH(E a1 (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 =LH LI 9,240 10,200 A960
OJl=gd =80 520,000 122 6,240
OJl2g+8 220
250,000 x 122 3,000
203 =4l 4,200 4,200
MU FA2SHIFII 4,200 4,200
0258 Olat 350,000+ 12 4,200
405 KHaHE SH 8,930 3,300 5,630
01 AL ESF=HI 8,930 3,300 5,630
OLE=S ERH 1,500,000 «1CH 1,500
odall 700,000 *1CH 700
O (aag) 330,000 174 330
O2AXH(zl2| &) 100, 0003 *4H 400
OPC(12Hl) 1,300,000 «3CH 3,900
OPC(Z2LIE ) (2 Hl) 300, 0002 +7CH 2,100




